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Warm-Up
1. What is the solution set for the
equation (x-4)2/8 = 2 if the
replacement set is {5, 6, 7, 8}

2. What are the four steps for solving
multi-step equations? (psst... they're
in your flipbook!)

Sep 21-7:00 AM

ASSESSMENT
ALERT

Sep 21-8:03 AM



9.21.15 - Adv. - Multi-Step Team Teach Notes (per. 6).notebook September 21, 2015

=) (X)) =R

(7\%\

%7%6%

Sep 21-8:04 AM

<N
15 (=% = 3%-3

) RN
\ 78X =104 BX=3
| e

TEX = Fx=\01 -3
10x \\o\

10 o X= \L\L\

Sep 21-1:18 PM



9.21.15 - Adv. - Multi-Step Team Teach Notes (per. 6).notebook

September 21, 2015

BN
(o xti ) (2 x d4)
2% “2‘*1"4\19

(X = O

2<X+7\t AT i)

Sep 21-1:22 PM

NN

U x—12 ="2l6-5x

~lx= "IV
-/l ~(\

X</

— A%+ (LX) = 2% -5x
It —12x-17 = 1% HDYX

—21x tSx = <¥+i2

Sep 21-1:28 PM



9.21.15 - Adv. - Multi-Step Team Teach Notes (per. 6).notebook September 21, 2015

Sep 21-9:18 AM

Sep 21-9:21 AM



9.21.15 - Adv. - Multi-Step Team Teach Notes (per. 6).notebook September 21, 2015

Sep 21-9:24 AM



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

